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Figure 1: https://en.wikipedia.org/wiki/Stereographic_projection

Thus S'=F— |J ] and 5% = LéJ

Figure 2: http://xahlee.info/math /i/stereographic projection by Hen
12-12 95487.ipg



The following diagram does NOT commute:

In+1 0
—  Chyt L s C), - sy Ch1  —
Lot Taga] |0 }/ fn\ o Ky/ fo—1||9n-1_.+"
— Dy > D, » Dy —

The chain maps f,, g, : C,, = D,, are chain homotopic if
1K, : C,, — D,, such that
On+1 40, + K210, = [ — g

Claim: f, =g, : HY — HP

Proof: If a € Z¢' then da = 0.
Op1 K () + Kp10p(a) = fula) — gnla)
fala) = dp1 K@) + gnla)

()] = 0n1 Kn(@) + gn(@)] = |gn(c))

Thus f.(o) = g:(a)



